
Hardware

JCB M6 x 30
x 8

Allen Key

x 1

A

B

C

D

E

F G

Parts List

Top 

Bottom Panel

Left Panel

Right Panel

Back Panel

Back Crossbar

Door

A

B

C

D

E

F

G

No. Q’tyDescription

1 pc.

1 pc.

1 pc.

1 pc.

1 pc.

1 pc.

1 pc.RF40015RF10052

Assembly Instruction
Dog Crate with Wood Slats



Step 1: Attach Right Panel (D) into the Bottom Panel (B) 
by using screw RF10052. Then insert Back Crossbar (F)
into the Right Panel (D) as per diag. 1.

Step 2: Attach Left Panel (C) into the unit 
by using screw RF10052 as per diag. 2.

Step 3: Upright the unit.
Insert Back Panel (E) into the grooves both panel 
(C & D). Attach the Door (G) by alignment 
the hinges into the latch’s Right Panel (D) 
as per diag. 3.

Step 4: Put the Top (A) into the unit 
by using screw RF10052 as per diag. 4.

Diagram 1.

Diagram 2.

Diagram 4.

Diagram 3.

BD
C

B

D

C

D

B

E

G

A

B

C

G

F

JCB M6 x 30

x 2

RF10052

JCB M6 x 30

x 2

RF10052

JCB M6 x 30

x 4

RF10052


